Plus Two Accountancy Notes Chapter 3
Reconstitution of a Partnership Firm-Admission of
Partner

Reconstitution of Partnership: o828 10O M0 ayMAM132nd6Mo:
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Modes / Forms of Reconstitution
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o Change in the profit sharing ratio
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e Admission of a partner
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e Retirement of a partner
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e Death of a partner
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2. Admission of a new partner
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Inclusion of a person as a partner to an existing partnership firm is called
admission of a partner. When a firm requires additional capital or managerial help
or both for the expansion of its business, a firm can admit a person as a partner
to an existing firm. The new person admitted is called as incoming partner. On
admission, old partnership agreement comes to an end and with a new agreement
the business will continue. A person can be admitted as a partner only with the





consent of all partners. A minor can be admitted as a partner for the benefit of
partnership. In that case minor’s liability is limited to the capital contributed by him.
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For the right to acquire share in the assets and profit of the partnership firm, the
partner brings adequate (agreed) amount of capital either in cash or kind. For the
right to share future profit of an established firm the new partner is required to
bring some additional amount known as his share of goodwill or premium. This is
necessary to compensate the existing partners for their sacrifice a part of their
share of profit in favour of the incoming partner.
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Rights of new partner
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e Right to share the assets of the firm- for this the new partner has to bring a
certain amount of capital.

MDA IMOD M OO MUIODENUD s 1SOMBE BRLG:IWo- SN IMIW ] Y@ @
18281667 630) Mo ayeibmoe adI6nseMo.

e Right to share the profit of the firm - for this he has to bring his share of
goodwill.
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Matters on which accounting adjustment are required at time of admission of
new partner :
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Following are the accounting treatments at the time of

admission:-
1. Capital of the new partner
Calculation of new profit sharing ratio.

Calculation of sacrificing ratio.

Calculation and Treatment of Goodwill.

Revaluation of Assets and Liabilities.
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Adjustment of reserves and other accumulated profits and losses.
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1.Capital of the new partner :
YOI altr 6 wYes 2aiwmo:

Cash or Asset a/c Dr.

To New Partners Capital a/c

2. Calculation of New Profit Sharing Ratio
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The new profit sharing ratio will be calculated by new partner acquires his share of
profit from the old partners.
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Case -1: When old share and new partner’s share is given,
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M@ MDD ( SO NG )

Example
A and B are partners sharing profits in the ratio of 3:2. C is admitted for the
1/6th share of the profits.

Firm's share = 1

Remaining share = 1- 1618



= 56/8

Now,

3534 x 5678 = 15302132

A’s new share

2514 x 5678 = 1030732

B’s new share

C’s share = 1618 x 5578 = 530432

New profit sharing ratio of
A:B:C-=
15 :10 : 5, or 3:2:1

Thus the new profit sharing ratio for A, B and C will be 3 : 2 : 1
Since the proportion of old partners profit sharing ratios remains unchanged, their
sacrificing ratio will be the old ratio i.e., 1:1.
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Case -2 : (a) When old partners contribute equally (1:1)
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Example

A and B are partners sharing profits in the ratio of 5 : 4. They admit C for 1/10 th
share of profit which he acquires in equal proportion from both. Find the new profit
sharing ratio.






Old ratio=5: 4
C's share = lth
10

Which he acquires in equal proportion from both,
1 1 . 1 1

. A's sacrifice = 1 x 2 = 0 ; B's sacrifice = o x 2530

T 100-9 N
Nsnewshare:%-ﬁ- T80 =ﬁ

1 80-9 N
B'snwshar&:i—-i-c—'ﬂm:ﬁ

1 1 18 - 18

Csnawshare:;l-a-ﬁxﬁ 180

~ New ratio among A, Band C=91:71:18

Case -2 . (b) When old partners contribute with a ratio  (1:3)

A and B are partners sharing profits in the ratio of 3 : 1. They admit C for 1/8 th share
of profit which he acquires 1/32 from A and 3/32 from B. Find the new profit sharing ratio.

A’s share is 3/4 out of which he gives 1/32 10 C

s A 8 T _24=31. 23
A’'s new share = 2 35 = 32 = 35
B's share is 1/4. out of which he gives 3/32 10 C
1 3 8-3 5
B's new share = T i B 32 - -:-3-5

C's share = 1/8 (i.e., 1/32 + 3/32) = 4/32
Thus, new profit sharing ratio for A, B and C will be:

23/32 :5/32:4/320r23:5:4

Case -2 : (c) When a old partner contribute wholly (1:0)

Example
Das and Sinha are partners in a firm sharing profits in 4:1 ratio. They admitted

Pal as a new partner for 1/4 share in the profits, which he acquired wholly from

Das. Determine the new profit sharing ratio of the partners.
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Share Surrendered
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Pal's share - 7
Das’s new share = QOld Share -
_A1 _u
5 4
1
Sinha’s new share = g

The new profit sharing ratio among Das, Sinha and Pal will be 11:4:5.

Case - 3: When old partners sacrifice is given
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Example 1:
A and B are partners sharing profit and

losses in the ratio of 3 : 1. C is admitted

as partner in the firm. A surrendered 1/32 of his share and B 3/32 of his share in

favour of C. Calculate new profit sharing ratio of the partners.

3 1
A’s old share = Py He surrenders =5 of

3ie 313,
4 "7 4 32 128°

. 3 L 63 e T
A’s new share = | e S B’s old

1
share = Y
3 l 13 3
—_— —_—— = —— s R’
He surrenders 33 of v 3%33 "o B’s
hare = Leioimot=d 29
newshare = 27128 128 128
C's share = ki AL The new profit
128 128 128° P
sharing ratio between A, B and C will be
93..2%. 6

128 128 128 0r93:29:6
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Example 2: Ram and Shyam are partners in a firm sharing profits in the ratio of
3:2. They admit Ghanshyam as a new partner. Ram sacrifices 1/4 of his share
and Shyam 1/3 of his share in favour of Ghanshyam. Calculate new profit sharing
ratio of Ram, Shyam and Ghanshyam.

Ram’s old share =
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Share sacrificed by Ram =

| R
©

Ram’s new share
Shyam’s old share =

Share sacrificed by Shyam =
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Shyam’s new share =

Ghanshyam’s new share = Ram’s sacrifice + Shyam’s S:

3.2 17
20 15 60
New profit sharing ratio among Ram, Shyam and Ghanshyam will be 27:1¢

3 Calculation of Sacrificing Ratio
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Sacrificing profit sharing ratio:
(O)JZ)(D @R M)ald®o :

The ratio in which the partners are agreed to sacrifice their share of profit in
favour of other partners. Sacrificing Ratio = Old Ratio - New Ratio
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Case-1 : If new partner get his share in the old profit sharing ratio.,
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Case - 2 : When old ratio and new ratio are given.
AlP® BRM)ald®o a)®I® GRMYald®)o MM E)EMUID.

Example:
X and Y are partners sharing in the ratio of 3 : 2. They admit Z for 1/ 5th share.
Calculate sacrificing ratio.

Total profit be = 1; Z’s share = '/ _
@ I 4
Remaining profit = 1- T
4 3 12 4 2 8

A = Y= = — = —X—=—"

Z's share rartary- Y’s share rerETY
. AR T .

New ratio = 2~5x2_5—25 =12:8:5

Sacrificing Ratio = Old share - New share

gy 3 12 15-12_3
5 25 25 25°

v, 2.8 _10-8 2
V& 25 25 280

Sacrificing ratio =3 : 2
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4. Calculation and Treatment of Goodwill.

Goodwill or Premium

At the time of admission new partner has to bring certain amount to get share in future
profit, this amount is called goodwill. Over a period of time a well established business

develops
an advantage of good name, reputation and wide business connections which help the

business to earn more profits. In accounting, the monetary value of such advantage is

known

as goodwill.
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Factors affecting the value of goodwill
The main factors that affect the value of goodwill of a firm are the following:

1. Favorable location - If the business is centrally located, it will attract more

customers. It increases the profitability and also the value of goodwill.

2. Nature of business - A firm that produces high value added products or dealing
goods having stable demand is able to earn more profits and therefore has more

goodwill.



3. Efficiency of management - A well managed concern enjoys the advantages of

high productivity and profitability. Hence; its goodwill will be more.

4. Market situation - The monopoly condition or limited competition enables the

business to earn more profits and so the value of goodwill will be high.

5. Special advantages - A firm which enjoys special advantages like import
licencing, low rate and assured supply of electricity, trade mark, well known

collaborations, patents etc. enjoy higher value of goodwill.

6. Time Factor - A business concern running profitably for a long period will have

more goodwill.
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4.A. Methods of valuation of goodwill
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1. AVERAGE PROFIT METHOD

Under this method, the goodwill is valued at an agreed number of ‘years’ purchase of
the average profits of the past a few years. It is based on the assumption that a new

business will not be able to earn any profits during the first few years of its operations.

Eg: Net profit of a business for the last 3 years was Rs. 10000, 20000 and 30000, the

partners decided to calculate the goodwill based on 2 years purchase.

Therefore, Average Profit = (10000 + 20000 + 30000) / 3 = 20000.

Here goodwill = 20000 x 2 = 40000.
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@R® IMOM, VW] 2Id@o = (10000 + 20000 + 30000) / 3 = 20000.

eniles ;myawall@d = 20000 x 2 = 40000.

4.B. Treatment of goodwill

On admission, the incoming partner who acquires his share of profit from the
existing partners has to bring in some additional amount to compensate them for the loss

of their share in super profits. It is termed as his share of goodwill or premium.

New partner is required to compensated by the existing partners by giving him a share in
future profit. This premium amount is shared by old partners in the ratio in which they
make their sacrifice. From the accounting point of view, there may be different situations

related to treatment of goodwill and these are:
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1. Case-1 When the goodwill (premium) is paid privately (i.e., outside the
business) by the new partner to the old partners, no entry is recorded in the
books of account.
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No journal entry

2. Case-2 When the new partner brings in his share of goodwill in cash and the
same retained in the business
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Journal entry:

1. Cash Alc —Dr
To Premium A/c [bring goodwill in cash]

2. Premium A/c Dr

To Old partner's Capital A/c [distribution of goodwill]

3. Case-3 When the new partner brings in his share of goodwill in cash and the
same fully or partly withdrawn by old partners.
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Journal entry:

1. Cash Alc —Dr
To Premium A/c [brings goodwill in cash]

2. Premium A/c —Dr

To Old partner's Capital A/c [distribution of goodwill]

3. Old partner's Capital A/lc —Dr
To Cash Alc

[withdrawal of goodwill in cash]





5. Revaluation of asset and liabilities

Revaluation account [It is also known as P&L adjustment a/c.]

e |t is a nominal a/c.
e Prepared to find out the profit or loss on revaluating the asset and liabilities, if

they are understated or overstated, and to bring the asset and liabilities to their true

value.
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Accounting treatment of revaluation of asset and liabilities
Accounting Treatment

1. For increase in the value of assets

Assets Alc Dr

To Revaluation Alc

2. For decrease in the value of asset
Revaluation A/c ——Dr
To Assets Alc

3. For increase in the value of liability
Revaluation Alc -Dr

To Liability Alc

4. For decrease in the value of liability
Liability A/c -Dr
To Revaluation Alc

5. For unrecorded assets
Assets Alc ——Dr
To Revaluation Al/c



6. For unrecorded liability
Revaluation Alc -Dr

To Liabilities Alc

7. For profit on revaluation
-Dr
To Old partner’s Capital Alc

Revaluation on A/c

8. For loss on revaluation
Old partner's Capital A/lc ——Dr
To Revaluation Al/c

PROFORMA
Dr Revaluation Account Cr

Particulars Amount Particulars Amount
Assets (decrease) X X X Assets (increase) X5 XX
Liabilities (increase) 'S U5 Liabilities (decrease) X X X
Unrecorded Liabilities XXX Unrecorded Assets X X X

Profit transferred to Loss transferred to
old partner's Account X X X old partner’s Account X X X
[ X X X XXX

Example:

The book value of debtors as on 31st Dec 2014 was ¥ 50,000. Pass journal entry
regarding revaluation and also point out effect in the new balance sheet in the
following cases

a. 3,000 proved to be bad

b. Reserve for bad debts be created @ 5%

c. Reserve for bad debts be increase by 2,000

d. Reserve for bad debts was found to be short by 1,700

Answer:
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Journal entry Effect on the Balance Sheet

a. Revaluation A/c 3000 Debtors (50,000-3,000) 47,000
To Bad debts 3000

b. Revaluation 2500 Debtors (50,000-25,000) 47,500
To reserve for bad and
doubtful debts 2500

¢. Revaluation 2000 Debtors (50,000-2,000) 48,000
To reserve for bad debts 2000

d. Revaluation 1700 Debtors  (50,000-1,700) 48300
Reserve for bad debts 1700

6. Adjustment of Reserve and Accumulated profit or

loss

They are distributed to old partners in old profit sharing ratio . The new partner should not

share such profit/loss and reserve because these arose before his admission.
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Journal Entry :

For reserve / Accumulated profit :
Reserve/Accumulated profit —Dr.
To old partner’s capital a/c

For accumulated loss :
Old partner’s capital a/lc —Dr.
To profit and loss al/c

Accumulated profit (P&L a/c credit balance)

Shown in the liability side of the balance sheet.

Accumulated loss (P&L a/c debit balance)
Shown in the asset side of the balance sheet.
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